PRODUCT CUT SHEET

PANELCLAW®

AN ENSTALL COMPANY

©

MODULE CONNECTOR, 10 DEGREE, ERP

PART NUMBER DESCRIPTION m@'ﬁ’[‘r;ﬁ ] Vfg'/ng MODULE WIDTH
500063301 | MODULE CONNECTOR, 1030, 10D, CFRP | 43.31[1100.0] | 1.684/0.764 990 - 1030
500063302 | MODULE CONNECTOR, 1070, 10D, CFRP |  44.88[1140.0] | 1.720/0.780 1031 - 1070
500063303 | MODULE CONNECTOR, 1110, 10D, CFRP | 46.46[1180.0] | 1.756/0.797 1071-1110
500063304 | MODULE CONNECTOR, 1150, 10D, CFRP | 48.03[1220.0] | 1.792/0.813 1111-1150
500063308 | MODULE CONNECTOR, 1310, 10D, CFRP |  54.33[1380.0] | 1.936/0.878 1270 - 1310

BASE ATTACHMENT
HOLE FOR M6 BOLT

CAM BRACKET AND BASE
ATTACHMENT SLOT FOR Mé BOLT

OPTIMIZER BRACKET
ATTACHMENT
FOR Mé BOLT

— DEFLECTOR
ATTACHMENT
RIVETNUT FOR Mé
BOLT

@ o

()

DEFLECTOR
SEAT

RAIL ATTACHMENT
RIVETNUT FOR M6 BOLT

OPTIONAL RAIL ATTACHMENT
RIVETNUTS FOR M6 BOLT

—

Y

<[§§]> T

SHEET10F3

Rev: cs-1




PRODUCT CUT SHEET @) PANELCLAW*

AN ENSTALL COMPANY

MODULE CONNECTOR, 10 DEGREE, CFRP

ITEM NO. DESCRIPTION

MODULE CONNECTOR, CFR
TILT ARM, 10D, CFRP
LOCK CLAW, CFRP
RIVETNUT, HEX, M6X1.0, ST
RIVET, 1/4"x .25"L, .020-.125 GRIP, ST

W IN|(—

1) MODULE CONNECTOR, CFR

"‘ [23 o]
i > > > >

& o 0O o0° AN} & [} &S Rl [ I[====Y
. S (a) R
. — A
[28.9] !
3) LOCK CLAW, CFRP 4) RIVETNUT, HEX, MéX1.0, ST

2) TILT ARM, 10D, CFRP

s

0= . 61
q [13.%]] [15.6] “
1 22
B [309] |‘ 1.61 Mé X1.0

B]L
9.24 ) " [40.9] THREAD . }
L [9.5]

[234.6]
H \ [ 1.75 5) RIVET, 1/4'x .25"L, .020-.125 GRIP, ST
, [44.5]

~

+
o

. '_¥ 40 & 50
ol J_ ho] [12.7]
! R

176 2.16 (6.4]
[44.7] ~ [550]

MATERIAL STEEL
FINISH ZINC-ALUMINUM-MAGNESIUM, ZINC,

Rev: cs-1

SHEET20F3




PRODUCT CUT SHEET

C

PANELCLAW®

AN ENSTALL COMPANY

MODULE CONNECTOR, 10 DEGREE, CFRP

PACKAGING INFORMATION
PART NUMBER DESCRIPTION DIM (B) ININCHES | UNIT QTY. PALLET WEIGHT
70-00364 MODULE CONNECTOR, 1030, 10D, CFRP(ASSEMBLY) 52.0 450 833 LBS
70-00365 MODULE CONNECTOR, 1070, 10D, CFRP(ASSEMBLY) 52.0 450 849 LBS
70-00366 MODULE CONNECTOR, 1110, 10D, CFRP(ASSEMBLY) 52.0 450 865 LBS
70-00367 MODULE CONNECTOR, 1150, 10D, CFRP(ASSEMBLY) 52.0 450 881 LBS
70-00368 MODULE CONNECTOR, 1310, 10D, CFRP(ASSEMBLY) 58.5 450 946 LBS

SHEET3OF3

(

Rev: cs-1






